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IBPS RRB Clerk Prelims Previous Year Paper 2023

Directions (1-5): Study the following information carefully and answer the questions given below:

Certain numbers of persons sit in a row face north direction. E sits 2nd to the right of F. Two persons sit between G and E. D sits
immediate right of G. The numbers of persons sit to the left of D is same as to right of C. Four persons sit between D and H who
does not sit near F. C sits 2nd to the left of H. B sits 2nd from the extreme end but not sit near E. No one sits left of F. A sits 2nd to
the left of G.

[EEIRIERISIEENREIRRIEE CERC EPRE T | SIS 1 il A L ] RS R

U Tk § e dear # Fw oafcn 397 e i oY 7@ #9581 E, F F a0 8 6 €9 T a7 g1 G 37 E % i+ # a1 =Afw 95
21 D, G % 31 a0 I &1 D F T2 X 96 AThAT 1 §&dT, CF &T5 AL 95 ATHAT il &7 % F0H gl D 3% H, ST F % 979 qai 987
g, % = I ARE 95 €1 C, H % aTE 3T F gAY A9 9¥ 927 g1 B 3w BT & gAY TAT9 9T 937 & AT E % 919 Al 921 81 F %
ITAT ST FIE T2t 927 g1 A, G F FTAT ST TAL T 92 927 Bl

Q1. Who sits 3rd to the right of D?
D 3 g & A ST 9T & 937 872
(@G
(b)E
(A
(dc
(e)H

Q2. How many persons sit in the row?
ifr # e =tk 9582

(a) 21

(b) 17

(c)19

(d) 18

(e) 16

Q3. How many persons sit between C and A?

CRAF A= A= §?
()1
(b) 2
(c)3

(d) 4 A

(e) More than 4 / 4 ¥ srfers
BANK
Q4. Four of the following five are alike in a certain way and hence form a M AH AP ACK

group. Which of the following does not belong to that group?

fafafee o & & s oF RfF 7% § 77 § i Wi oF wg a9 J) for all Bank & Insurance
Frarferr # & #i o0 g & st T &2 Feanis

(@) E
(b) G
(A ke,
(dF Selection Ka Saathi
(e)D

1 I adda247.com/defence | www.sscadda.com www.bankersadda.com www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://www.adda247.com/product-onlineliveclasses/3937/bank-maha-pack-ibps-sbi-rrb?examCategory=bank-maha-pack&productId=27165
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR4l7|

132 Prime

ALL EXAMS, ONE SUBSCRIPTION

—— e —
80,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt

600+ 20,000 + Previous 500%
Exam Covered Year Papers Refund

ATTEMPT FREE MOCK NOW



https://applink.adda247.com/d/5zsmwiLHz7

AddaR247

Q5. What is the position of E with respect to D?
D % 9T9 A E T T 347 87

(a) 31 to the right / a7 =¥ f&=T

(b) 4th to the left/ ATE AT =ATAT

(c) Immediate right / £ a3

(d) 24 to the left / AT ST TAT

(e) None of these / TAH & FIs Tal

Directions (6-10): Study the following questions and answering the questions referring to the word sequence given
below:

et i 1 sremae AT o i R T4 a1 ST 1§ Id §T I % U Gl
ROW FIX FOG LAN COW

Q6. If first and second letter of each word is interchanged, then how many meaningful words will be formed?
IS T A58 F T 3T AL & HT T I8 (AT ST, Y fhar srefqut sre a7

(a) Three/ &=

(b) Two/ &

(c) One /U=

(d) Five/ o=

(e) None of these/ S8 | &< Tal

Q7. If each consonant is changed to its previous letter in the alphabetical series and each vowel is changed to its next
letter in the alphabetical series, then how many words contain at least one vowel?

I YT ST I JUATAT EAT § IF U e § 9 AT T R TAF T HT IUHTAT J@AT § Sh 30T < F T&A
T ST, A oA oTsal § ¥ W U @ eI

(a) None/ &1 &l

(b) One /T=®

(c) Two/ &T

(d) Three/ g

(e) None of these/ T7H & File Aol

Q8. If words are arranged according to the dictionary order from left to right, which word is second from the right
end?

TS QTSET T TSI FH % STTA AU § IMU AGRIA [HAT TY, AT HIFA-AT 9753 T G & AL T I g2

(a) FIX

(b) LAN

(c) FOG

(d) cow

(e) ROW

Q9. If all the letters in each word are arranged according to the alphabetical order from left to right, and then first and
second letter are interchanged in each word then how many meaningful words will be formed?

IS T ae% |/ T STE Al AT4 & IT JUHTAT A o ATHT A redd AT ST Sl Tohe T 9168 | gt Sii< g ST &l siae
T gaw gy s, Qv e ariw as aHa?

(a) Two/ &

(b) One/ T

(c) None/ #Ts 5t

(d) More than three/ 19 & a1fer®

(e) None ofthese/%ﬂ'ﬁﬁﬁﬁ‘%ﬂﬁ
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Q10. If last letter of each given word is changed to its next letter according to alphabetical series, then how many
words contain more than one vowel?

e R T T4 9151 F SIfAH T F¥ FVATAT FHH 6 ATAT SHh RIS ML F T8 AT 70, A7 Fohaer e & TF F ATeF T
gi?

(a) One/ Tx

(b) Two/ &

(c) None/ #Ts &t

(d) More than three/ €1 & stfer®

(e) None of these/ THH H FIs el

Directions (11-14): In these questions, relationship between different elements is shown in the statements. These
statements are followed by two conclusions. Give answer

T WAL H, FAAT A A il F fiT qe 9T T g1 I FAA1 S 98 & Aoy [Fawed g1 ST

Q11.
Statements/ PYT:Q=S=D2C>F<G=T

Conclusions/ e

LD=F

IL5=>F

(a) If only conclusion I is true/ o3 Faer AT [T &

(b) If only conclusion Il is true/ T2 Faer AeFd 19T &

(c) If either conclusion I or II is true/ =T =T a7 Ay [ AT 1 9T &

(d) If neither conclusion I nor Il is true/ o< T a7 g [ T & 1 TA &
(e) If both conclusion I and Il are true/ ot AT [ 3% [ AT T &

Q12.
Statements/ PYT: W<Y>Z=X>P>]
Conclusions/ e
L]<Z
ILX=W
(a) If only conclusion I is true/ Ffg Faer A [ T &
(b) If only conclusion Il is true/ < Faer FoFd [ 9T &
(c) If either conclusion I or I is true/ T AT a7 AT [ AT 1 T &
(d) If neither conclusion I nor Il is true/ < 7 a7 Ao [SX AT AT &
(e) If both conclusion I and II are true/ &t e [ 37 [1 T T 8

Q13.
Statements/ PYA:5S>G=2]<N<B>V=0
Conclusions/ fAerd.

LV=G

ILG=0
(a) If only conclusion I is true/ T Fa AT [ AT g

(b) If only conclusion II is true/ I3 Faer ey 1197 §

(c) If either conclusion I or Il is true/ 7% AT a7 AT [ AT 1 T §

(d) If neither conclusion I nor Il is true/ o< 7 a7 fATFT [ AT T &
(e) If both conclusion I and II are true/ 7% Aoy [ =¥ [ THT T &
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Q14.
Statements/ PYT: W<F<V=X2B2N

Conclusions/ =P

LLE=B

ILX=W

(a) If only conclusion I is true/ It Faer fAee [ e g

(b) If only conclusion Il is true/ I3 Faer AR 11 T g

(c) If either conclusion I or 11 is true/ =f a7 AT ek [ 47 11 T g

(d) If neither conclusion I nor Il is true/ =% 7 T At [T 7 g"r naag
(e) If both conclusion I and II are true/ 7t fAwh 1 =¥ 11 THT T g

Directions (15-19): Study the following information carefully and answer the questions given below:

Six boxes i.e, B, Q R, S, T and W are arranged one above the other but not necessarily in the same order. Three boxes are placed
between box R and box S. Box Q is placed just above the box B. More than two boxes are placed below the box R. Box T is placed
two places above the box Q.

FRaferiae s #:1 samgEe stega FIRT ok i fRg 7wt & s afm
TE AFT AT B, Q R, S, T 3T W TF & FUL UF FAARAT g AThed STET Agl 1o 6T %H | i1 TIFT R 3T Fiaq S % = o arar
TG M | T Q, A(FT B F S UL TET AT g1 T R % 1= &1 | ATere aia T T | aiaF T, T Q | ¥ £ATH FH9L T@T ITAT

2l

Q15.Which box is placed just above box S?
i S F S FUC A-TT ST T@T ITAT 82
(a) Box R/ &if# & R

(b) Box T/ It T

(c) Box W/ It W

(d) None of these / A% & #IE gl

(e) Box B/ &= B

Q16.How many boxes are placed between box W and box T?
i W sl i T % = et s @@ g 87

(a) One/ T

(b) Two/ &T

(c) Three/ A=

(d) Four/ =X

(e) None/ &1 &l

Q17.Which box is placed at the bottommost position?
FRIFT-GT SR g9 fF=er ST 9 T@T =T 8?7

(a) Box S/ &= S

(b) Box R/ &f# R

(c) Box T/ At T

(d) Box W/ atFr W

(e) Box B/ a1 B

Q18.How many boxes are placed below box Q?
i Q & 4 foha=t i W@ U 8?2

(a) Two/ &

(b) Three/ T1=

(c) One/T=®

(d) Four /=T

(e) More than four/ =¥ & Afer®
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Q19. If all the boxes are arranged in alphabetical order from top to bottom then how many boxes remain unchanged?
7fs g9ft FtF T8 FAX G g9 A= TF FUIGHA A e fHar I a1 e ate saRafda |a?

(a) One/ T=

(b) Two/ &

(c) Three/ &=

(d) Four/ =X

(e) None/ FTE gt

Directions (20-21): Study the following information carefully to answer the given questions:

C is daughter-in-law of D who has only two children. A is grandmother of F who is niece of B. B is sister of E and child of D. G is
grandchild of D who is married. No single parent lives in the family.

g 1T et % SR 3 & g Rufefee st w1 e sreaas fivm

D, S/ Fae a1 @y €, C I&eh! Taag 21 F, ST B il WA S/ATSM &, A 396! T&1/AT g1 B, E i &7 g ¥ D %1 &4 g1 D, Sfr
fEaTRa g, G 39T earsee g | Uaw | F1E Y UFha Atwaras 921 @t 2|

Q20. How G is related to C?

G, C ¥ g T waifeT &2

(a) Son/ =

(b) Daughter/ Tt

(c) Nephew/ SeftsTT/sTTSTT

(d) Niece/ sefistt/«ristr

(e) Either son or daughter/ T T T a7 T

Q21. Four of the following five are alike in a certain way and thus form a group. Who among the following doesn’t
belong to the group?

faffEaT o= § & = o Al 7% & a0 ¢ o 30 796K OF 99 99T 2| R § & #i aqg @ &6 ad 82

(@) A

(b)B

(c)D

(dF

(e)C

Q22. If we form a four-letter meaningful word by using the second, third, fourth and eleventh letter from the left end
of the word ‘REPRODUCTION’, then which of the following will be the fourth letter of the meaningful word thus
formed. If more than one meaningful word is formed mark Z as your answer. If no meaningful word is formed, mark X
as your answer?

7% 7 'REPRODUCTION' 9152 & ST FIX & O, T, FY 3R ARG < FT START Fikeh AT AU ATAT T qTiF 58 q T
&, a1 fMefafea & & F19-97 39 TR a1 G 753 T F1AT &< SN2 IS T O ATEF arieh 3 a9d § ¥ 79 S 6 €7 § Z
githa Frm It A ari a5 TET a7aT &, AV A9 ST 6 TG | X sifaha hifvm

a)R

o

(90

(d)X

(e)Z

Directions (23-27): Study the following information carefully to answer the given questions:

Seven persons are designated at seven different designations- Senior executive, Executive, SO, HR, Product head, ST and Admin
in a company. The designations are given in decreasing order such as the Senior executive is the senior most designation and
Admin is the junior most designation.

More than two persons are senior to R. Only two persons are designated between R and V. V is designated as senior to SO. Q is
designated two persons senior to S but junior to R. As many persons designated between Q and S as between Q and U. P is
seniorto T.
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T 1T et % SR 3 & g R st w1 s sreaes fifvrm

T T | ATT ATRAT & 1T AT-3TT T&T - HIA¥ TISifed, Tisiiagfed, SO, HR, Te#e 2T, ST 3% Uefa ¥ qaifha T
TAT g1 U% Hed F § QU U g S HifEw uSied g99 aiy g g ST UShT 999 #95 1T g

R& a7 & srferss =ik afg 81 R 3T V& = Faer a1 =i aaifehd €1 VT SO & afig o =7 # qaifha 3 T3 81 Q 1 S & a1 =at<h
g AfFT R w5 F w7 § q=ifhg T g1 Qs sF fa saa ST =afr g E fam QiR UF e g e §I P TH
s gl

Q23. How many persons are designated between V and Q?
V 3T Q & = famaer =afRe wwifaa €2

(a) Three/ i+

(b) Four/ =X

(c) Five/ o=

(d) One/T=

(e) Two/ &T

Q24. Who among the following is designated as Executive?
fafafe & & R oofegfes & =0 7 geifaa R mar @2
()R

(b) P

(Vv

(dQ

(e)T

Q25. As many persons are senior to U as juniorto____.
RarafrudaRggsaa sl ___ ¥ FMs 2l

(@R

(b)S

(9Q

(d)T

(e)P

Q26. If V is related to U, in the similar way P is related to R then who among the following is related to S?
7fT V, U & H&feT &, I I B, R §aifeq ¢, I Refafea # @& s& w@efaq &2

(@P

(b)T

(au

(dQ

(e)V

Q27. Which among the following statements is/are true?
Feffed & & F9-a78 F97 97 887

I. Vis the senior most person among all

VHAT § gaH aRS ATE §

I1. More than three persons are junior to R

T 7 ATIF ARF REFATE

[1I. 0Odd number of persons designated between P and T
P 3 T % &= TaiTha ARl i §&aT faud §

(a) Only I11/ &< 111

(b) Only II/ Fa= 11

(c) Both I and II/ I &% 11 T

(d) AlLL 1T and 11/ &7 1, 11 32 111

(e) Both I and I1I/ I i< 111 S+t
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Q28. In the word ‘REPLACED’, how many pairs of the letters have the same number of letters between them (both forward
and backward direction) in the word as in the alphabetical series?

% ‘REPLACED’ § &<t & U& faaet T § o & fi= srerdl it et Sant € g (3 &k iy a1 feermsit /) et aviArer
@t § gt 82

(a) Four/ =X

(b) Two/ ¥

(c) One/ T=®

(d) Three/ &=

(e) More than four/ =TT § 7far

Directions (29-30): In the question below some statements are given followed by the conclusions. You have to take the
given statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

o faw 10 7 § 7 T 37 IO a8 AeRd Ry T g1 Sraer IR T FEAT F a6 AT €, A B F Ta: 99 asal | o
AT B gil oot st & afey six e aa i f& Ry g Aot & & Fi9-a7 Fehd ame = J1a a1 S T96@ S #3d g
R 7T AT FT ATlHE T A SIFEOT FAT

Q29. Statements/ FY:

Only a few fans are fridges/ Fa Fs 94 s &

All fridges are cooler/ T+t FSFsT FeIT &

Conclusions/ fAe:

I. All fans are fridges/ T 9@ st §

I1. No fans are fridges/ 1< 9@T st 781 &

(a) Either conclusion I or II follows/ 3T T fA=t [ IT I SITHTOT FH¥AT &
(b) Only conclusion II follows/ @< fAT=t 11 STEI FAT

(c) Only conclusion I follows/ Fae fAeT [ LA HIAT &

(d) Both conclusions I and II follow/ fAeF [ 3fi¥ [1 ZI=T AT FAE
(e) Neither conclusion I nor II follows/ 7 AT et [ 3fiT 7 T 11 STHE F3dT §

Q30. Statements/ FY:

Only flavour is spices/ Fa FAa< &1 TITH &

Some taste is flavour/ F# =¥ Fa &

Conclusions/ fA=:

I. No taste is spices/ #Ts ¥ TITH A5l &

I1. All flavour can never be taste/ Tt Fa¥ FHHT 3€ Aol g1 Tl

(a) Neither conclusion I nor II follows/ 7 AT Ao [ 3fiT 7 T 11 STHE0 F3dT §
(b) Either conclusion I or II follows/ aT AT fATHT [ AT 1 ST FTAT 8
(c) Only conclusion I follows/ Fae fRT [ SILHTOT FIAT &

(d) Both conclusions I and II follow/ fAeat [ 3% I1 SET T F4d &
(e) Only conclusion II follows/ Fael AT 11 SITHLT FIAT &

Q31. Find the odd one out?
SHHT FAT hITorT ST 9 3
(a) BDI

(b) QSX

(c) OLQ

(d) RTY

(e) GIN
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Directions (32-36): Study the following information carefully to answer the given questions:

Eight persons sit around a square table such that four of them sit at the corners of the table and face towards the centre where
the remaining four sit at the middle of the side and face away from the centre of the table.

D sits second to the right of H. One person sits between H and A. F sits adjacent to A and sits at the corner of the table. E sits
second to the left of F but doesn’t sit adjacent to A. G sits adjacent to both B and C who doesn’t face F.

T 1T et % SR 3 & g R s w1 samgEe sreaes fifvrm

TS SATh T AT S & AT ST 6] A 95 8 o6 S0 & AT A & A1 T 98 ¢ M g T A G [0 g g, St a7 =Af=n
T ST F TeA | 95 8 A 0 % o F F12T Al AT g4 [0 g0 2

D, H % 313 & gAY T 9T 927 g1 H 3T A ¥ = UF =ARE 927 €1 F, A F e 927 § 3T 9 & %14 92 937 g1 E, F F a8 A7 T8
TATH UT T2T 8, ATHT A SATEH T2 937 81 B 3T C, ST F Y ST 7@ Ag1 1 gU g, G 39 T1 & A 937 5

Q32. How many persons sit between G and E when counted from the right of G?
GF T A q A WG EF i fan aafr S5 &7

(a) Five/ 9=

(b) Three/ =

(c) Six/ =78

(d) Four/ =1

(e) One/ TH

Q33. Four of the following five are alike in a certain way and thus form a group. Who among the following doesn’t
belong to the group?

FafafeT o= § § 9 uF [ a8F 3 a9 € oK <0 TR UF 99g 9970 81 Rafiea 8 & #19 a9qg & d@&ibq 78 &7

(a)B

(b) F

(c)A

(d)C

(e)E

Q34. Which among the following statement is true?

FRafefea & & f-ar = g 87

(a) Bdoesn't face F/ B®1H4 F AR §

(b) E sits two persons away from A/ E, A & & =< gL 8T &

(c) Three persons sit between C and F/ C 3% F & == i =f=F 95 &
(d) G and D face the same direction/ G 3i¥ D T# & f9IT i1 ¥ 37@ &
(e) None is true/ FTs HT 77 7&l &

Q35. If all the persons sit in alphabetical order starts from A in clockwise direction, then the position of how many
persons remains unchanged (excluding A)?

I AT € T g GHT ATE FUHATAT F:F A IRAoTEd AT F d5d €, A1 fhaw safeat it Rt soRafda @2 (AF FEH)
(a) Two/ &

(b) One/t®

(c) None/ #Ts 5t

(d) Three/ €=

(e) More than three/ &= & s7far=

Q36. What is the position of A with respect to B?
B % 9TUET § A T T T 872

(a) Third to the left/ aTE A fEeT

(b) Third to the right/ aT¢ e f&eT

(c) Fifth to the left/ aTE AT qi=raT

(d) Fourth to the right/ T$ 3T =TT

(e) Immediate left / & a0
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Directions (37-40): Study the following alpha numeric symbol series carefully and answer the questions given below:
e staddia T gadr F1 samga® sreaaw Fiforg s A= 3T 1T s F S S|
IOMW@Q27%JL&2T*U96#TQ1Z7L63nY9

Q37. How many symbols are there in the above series which are immediately followed by a consonant and
immediately preceded by a number?

T ST 3 T G T § R 2 2T v wi £ 4 A e v e 3
(a) None / #TE 7t

(b) One /T=

(c) Two/ ¥

(d) Three/ q1=

(e) Four/ =1

Q38. Which among the following element is 8t to the right of the number which is 4th from the left end in the above
series?

ety & & F9-a1 7@ STUE gE@aT # 910 ) & Frft Te1 F @€ A7 8ar 7

@T

(b)o6

(U

(d) &

(e)9

Q39. If all the numbers are dropped from the above series, then which among the following will be the 18t element
from the right end?

72 Iqh sfEeT & guft deard ger € s, Y Rafafea § & 2 SR & 1841 9 FA-ar g

(a) &

(b) @

(agw

(d)]J

(e) %

Q40. What is the sum of the numbers which are immediately followed by a symbol?
I HEATSA T T 4T g STk 31 o1% U T 1av 2872

(a) 23

(b) 25

(c) 22

(d) 24

(e) 32

Directions (41-45): What value should come in place of question (?) mark in following number series.

Rt e gaar § waf=e (7) F ®©& 9 a3 7 91k e?

Q41. 24,7,33.25,42.25,42.5,51.5
(a) 34

(b) 31

(c) 32

(d)33

(e) 24.25
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Q42.4,16,34,58,88,? A

BANK

(a) 128
(b) 126
(c) 122

O a0 MAHAPACK

Q43. 163, 150, 134, 112, 81,? for all Bank & Insurance
(a) 42 Exams

(b) 36

(c) 38

(d) 34 ke,
(e) 32 Selection Ka Saathi

Q44.6,5,8,21,7,395
(a) 88
(b) 84
(c)81
(d) 80
(e) 78

Q45.11,28,47,70,7,130
(a) 97

(b)99

(c)101

(d) 93

(e)95

Directions (46-50): The table give below shows total number of three different items (Laptops, Mobiles and Cameras)
sold by shopkeeper ‘P’ in three different months (January, February and March). Read the table carefully and answer
the question.

= & 7 qrfersr i SRSt AT (FE, HE S 9T # ThER P EIRT A= T S SIeT-StenT qegEt (RS, /T
I FAY) FT T GAT FLTAT 2| ATIOTHT HT SATTIAH TILY S T F IAT A1)

Months/ Laptops/ Mobiles/ Cameras/
e | s e -
January/ 160 156 128
Seadl
February/ 100 120 124
E
March/ 132 144 180
AT

Q46. Total camera sold in January and laptops sold in March together is approximately what percent of total mobile
sold in January and March together.

THATT AU | o9 T FHo FAT AT | a9 T AT, ST AT R (HATHL 99 T H HIATSAT BT ATHIT b T ITAAT 8 ?
() 93%

(b) 92%

(c) 82%

(d) 87%

(e) 81%
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Q47. If total laptops sold by R in February is 40% more than that of P and total mobiles sold by R in same month is
25% more than that of by P, then find total number of laptops and mobiles sold by R in February.

I HEd § R ERT I TT FF AT, P it TAATH 40% 18 & 3 S A7 § R GRT 9 T FF AT DI, P it q@aTd 25%
Ffer &, a7 B § R g1 99 T A9 3% AT i T 4T A1 Hord|

(a) 210

(b) 290

(c) 240

(d) 320

(€)330

Q48. Find the difference between all three items sold in March and total camera sold in January & February together.
AT & o= TS T I TR TT ST 3 FE d AT o9 T ol FAL 6 S (a2 A7 FIorw)

(a) 184

(b) 224

(c) 194

(d) 214

(e) 204

Q49. Find the ratio of total mobile sold in March to total mobile sold in February and total laptops sold in January
together.

ATH § o T F HIGTEAT FT THATT BLEL A O T FA AGTSAL S TG H 9 T FA AYS (T F AT A1 g

(a) 18:35

(b)16:35

(c)18:25

(d)12:35

(e)19:35

Q50. Find the sum of total number of laptop and camera sold in month of February.
HEL ATE | o T YT SR FA 6 T AT AT 0T AT Aiorg|

(a) 254

(b) 234

(c) 224

(d) 214

(e) 244

Q51. A and B together can do 1—85 of a work in 5 days and B alone can do the remaining work in 7 days. Find in how many
days A alone can do the work?

AWBWWWW%W5ﬁﬁﬁﬁﬂﬁ%@?BWWﬁ?ﬁﬁﬁﬁW%lﬁﬁiﬁﬁtﬁ?Amwm?ﬁ
o AT & g e ot 87

(a) 15

(b) 25

(c)12.5

(d) 20

() 50

Q52. A, B and C entered into a partnership business with investment of Rs. 4800, Rs. 2000 and Rs. 2800 respectively. At
the end of a year, the profit of B is Rs. 3500, then find the difference between profit share of A and C.

A, B #lIT C & FAS: 4800 9%, 2000 T < 2800 TqF & a9 & AT ATA § T AGH L& HATI TH 99 & i §, B & A1
3500 93 §, AT A ST CF ATW & fR&ql & &= (< ATq gl

(a) 1400 Rs./ 1400 =97

(b) 4900 Rs./ 4900 &7x

(c) 3500 Rs./ 3500 &7%

(d) 700 Rs./ 700 =97

(e) 1500 Rs./ 1500 =9
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Q53. A man invested Rs. 4000 on simple interest at certain rate of interest for some years. If rate of interest is two
times of the time for man invested and he received Rs. 2880 as interest, then find the rate of interest.

TF AR T FF a9t & o A s a0 & qrener s 9% 4000 '3 FT Aaer @ aft s 6 o ste g Fag e e
T | IAAT § S SH AT & €9 H 2880 T4 WA Y &, AT AT 6l & ATT HITQ)

(a) 20%

(b) 15%

(€) 9%

(d) 6%

(e) 12%

Q54. 90 liters mixture contains juice and water in the ratio of 5 : 4 respectively. If 36 liters mixture taken out and same
quantity of water added in the remaining mixture, then find ratio of initial quantity of water to quantity of water in
resulting mixture.

90 e fAr=1or & S 3 I FHA: 5:4 F AT | &1 IR 36 e [y Feprar Srar & i Q4w [Fsyor § q9r+ 9 & e e
STTAT &, T AT T ST AT i< TR frsror & ot it /1= T siquTa J1a i)

(@2:5

(b)1:1

(c)2:3

(d)3:5

(e)1:2

Directions (55-59): The line graph given below shows total number of cities and villages in four different states. Read
the data carefully and answer the questions.

= o 7o T e T S-S Tt H ST S it it o St Tqiar 1 AFHS T R LAY h 72 i wt ¥ I AR

400

300 AN

00 ._m. _..;-"’f
100 \

P 0 R 3

o Cities [ TBY el Villages /710

Q55. If total villages in X are 20% more than total cities in P and total cities in X are 60% more than total cities in R,
then find total cities and villages in X.

fe X H o 31T, P H T A8 & 20% (78 & 3 X H T A8, RH FoA T8 & 60% SATEH 5, T X H FoT AGL M MG A1 hl 191Q)
(a) 400

(b) 420

(c) 480

(d) 560

(e) 600
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Q56. Total cities in S are what percent less than total villages in P and S together.
S # T ATEY, P Sl S | e o Wi & e wiaaa #7 §2

(@) 75%

(b) 35%

(c)37.5%

(d) 30%

(e) 45%

Q57. Find the average number of cities and villages in Q.
Q ¥ ST ST AT i Shraa HEAT AT Hforw|

(a) 150

(b) 120

(c) 180

(d) 200

(e) 240

Q58. Find the ratio of total villages in R to total cities in R and S together.
R & F (a1 %7 R 3T S § e $a1 A8 & 31919 19 Hifrg|

(a)8:15

(b)5:12

(c)7:16

(d)5:13

(e)5:16

Q59. Find the total number of villages in P and Q together.
P 3R Q ® AT Tia Y et HeAT A1a HIfSw

(a) 500

(b) 550

(c) 450

(d) 400

(e) 600

Q60. The total cost price of 8 pens and 12 bottles together is Rs. 440. Find at what price 10 pens and 15 bottles should
be sell to receive a profit of 20%.

THATT 8 U 3T 12 Tl T T FF o 440 TG g1 ATT FASIT 6 20% FT AT TTH FLA 6 1T 10 I 3T 15 A 1968 HIHT I
Y ST = TRT?

(a) 720 Rs./ 720 &7

(b) 520 Rs./ 520 =¥

(c) 600 Rs./ 600 &7F

(d) 660 Rs./ 660 T3

(e) 550 Rs./ 550 ¥7F

9
Q61. The radius of a circle is 7 cm and the perimeter of a square having side of (x+5) cm is ch of the circumference
of the circle. Find the area of another square whose side is x cm.

9

T I I AT 7 GHT § ST (x+5) Gt [T aTet T a1 &l TRATT, Gl TR & 15 81 AL a9 61 &6 AT I [Srereht
ST x 9T R
(a) 64 cm?/64 HHY?
(b) 16 cm?/16 THT?
(c) 25 cm?/25 &HT?
(d) 36 cm?/36 THT?
(e) 9 cm?¥ 9 T2
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Q62. A bike running at speed of 42 km/hr for 8 hours and with a speed of 32 km/hr for two hours. Find average speed
of the bike.

T 9155 8 < a 42 fFft/ser fr 9 @ sz ar e % 32 fFfi/sier Fit =mer & 9ot 31 915 i 3| 9 719 fiforw)
(a) 30 km/hr/30 foet /==t
(b) 36 km/hr/36 {3t /==t
() 40 km/hr/40 f3Ffy /==t
(d) 48 km/hr/48 fafy /==t
(e) 50 km/hr/50 et /==t

Q63. Average of present age of A, B and C is 15 years. If sum of present age of A and C is 27 years, then find the present
age of B.

A, B 3T C Y FHT A &7 3 15 99 81 1 A 37 C it adA7T S FT AR 27 99 &, T B ¥ Ta91 o1 F19 Hiforg)
(a) 16 years/16 T
(b) 24 years/24 a9
(c) 20 years/20
(d) 18 years/18 a9
(e) 12 years/12 T

Q64. Out of 68 people some are athlete, singer and cricketer. The ratio of athlete to cricketer is 2 : 9. If number of
singer are eight more than the number of cricketer, then find the number of cricketer.

68 AR § & T WU, T X Fhshex &) wuretie sfix ke 7 stquma 2:9 &1 IR raeht it T, e it Jear & s sifds g,
Y fheper Y ger s fifsrm

(a) 26

(b) 6

()27

(d) 24

(e) 20

Q65. A train is running at speed of 45 km/hr crosses a bridge in 36 seconds. If the ratio of length of train to the bridge
is 1:3, then find the length (in meters) of the bridge.

T 2 45 farey/sier €1 9190 § F9d §C UF T i 36 dehe | T Fdt gl (R 3 o O Y w12 7 Aqura 1:3 &, T O ¥ Fia1s
(e 7)) T3 fifsm

(a) 112.5

(b) 3125

(c)125.5

(d) 337.5

(e) 450

Q66. For post A, total people applied are 50% more than total people applied for post B. Number of girls applied for
both posts are same. If for post A, 70% boys applied, then find the percentage of girls applied for post B.
T A & [T, & F a1 Fo AT, 98 B & oI e 63 a1 T ARN 6l qoAT H 50% AT &1 T1 9l & g siraas i
Freft wrsTrat it T aar &)1 af 95 A F g 70% wis+i A srae T g, @ ug B % o srae A arelt as R w1 yfvaq s
EAIS Y]
(a) 20%
(b) 30%
(c) 50%
(d) 45%
(e) 35%
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Q67. The ratio of speed of stream to speed of boat in still water is 2 : 5.The boat covers 70 km in 5 hours in
downstream. If boat take ‘T’ hours to cover 30 km in upstream, then find ‘T’?

T 3T AT S LT T H AT ¥ AT T AT 2: 5 g1 19 & & A7 5w | 70 T H @ oo s g aRaasraa s
AT 30 Rt fir R o FA /T He A &, 1 'T' F7 A1 [1a Hiforw)

(a) 2

(b)3

(c) 4

(d)5

(e)6

Directions (68-80): What will come in the place of questions (?) mark in following questions.

e v § wfeg (7) F e w R srgE?

Q68. f3z4—:%—: 57 =7

(a) 2
(b) 1
(c)9
(d) 4
(e)6

Q69_535—15 +60+2=7
(a) 750
(b) 270
(c) 700
(d) 100
(e) 737

Q70. 259% of 280 — 24% of 50 =7

280 ©hl 25% — 50 hl 24% =7
(a) 58
(b) 51
(c) 68
(d) 78
(e) 50

Q71. 376 — 60 ><§=?2

(a) 17
(b) 15
(c) 16
(d) 19
(e)11

Q72. (27 + 82) = 50% of 192
(27 + 82) = 192 T 50%

(a) 4

(b) 2

(01
(d)3

(e)5
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Q73.150 X 39 + 3 — 950 =7
(a) 500

(b) 100

(c) 1000

(d) 800

(e) 600

Q74.(36 x 8) — (440 + 8) =7
(a) 221
(b) 252
(c) 233
(d) 278
(e) 215

Q75. (17 + 103)% of 45 — (8)* =4 x 7 =70
45T (17 +103)% —(8)° =4 x? =70

(a) 35
(b) 15
(c)30
(d) 27
(e) 20

Q76.(4000 = 250) x3+1 =7?
(a)7
(b) 8
(9
(d) 2
(e)3

Q77. 20 % of 350 + ? % of 200 = 110

350ahT 20 % +200RT ? % = 110

(a) 20
(b) 25
(c)18
(d) 15
(e) 24

Q78. (2)3+200 x ? = (6)%+100 A
(a) 54

(b) 52 BANK

(c) 56
(d) 64 MAHAPACK
(e) 72
) for all Bank & Insurance
Q79. 31.5+3.5x12—-8=7 Exams

(a) 60
(;) 90
(c) 50

Ly =

(d) 100 Selection Ka Saathi f
(e) 80
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49
—_ =72
Q80. 7, X 48 =3

(a) 18
(b)8

(c) 16
(d)12
(e) 14

$1. Ans.(d)
Sol.

S2. Ans.(e)
Sol.

F E A G D C H B
i i 1 1 I 1 1 1 1 1

S3. Ans.(e)
Sol.

F E A G D C H B
1 1 1 1

S4. Ans.(d)
Sol.

F E A G D C H B
i 1 1 I 1 I 1 1 1 |1

S5. Ans.(b)
Sol.

F E A G D C H B
i 1 1 1 1 1 1 1 1 1

S6. Ans.(e)
S7. Ans.(c)
S8. Ans.(b)
S9. Ans.(b)

$10. Ans.(a)
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S11. Ans.(b)

S$12. Ans.(a)

$13. Ans.(c)

S$14. Ans.(d)

$15. Ans.(c)
Sol.

Boxes

w=mo (=2

$16. Ans.(c)
Sol.

Boxes

v =(mo|=|a

$17. Ans.(a)
Sol.

Boxes

v = wmo (=g

$18. Ans.(b)
Sol.

Boxes

wi=(mo (=g

GET IT ON
Google Play
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$19. Ans.(e)
Sol.

Boxes

w|= o=

$20. Ans.(e)
Sol.
A(-)=D(#)

B(-}==E(+)=C(-]
F(- ) G
G is either son or daughter of C.
$21. Ans.(c)

Sol.
A(-)=D(+]

B(-]==E(+)=C(-)

F(-)m=G

Except D, all are female members.

S$22. Ans.(e)

$23. Ans.(a)
Sol.

Designations Persons

Senior V
executive

Executive

S0

HR

Product head

5T

| o (B3 S|e

Admin

S24. Ans.(b)
Sol.

Designations Persons

Senior v
executive

Executive

S0

HR

Product head

ST

o= |c|e

Admin

GET IT ON
Google Play
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$25. Ans.(c)
Sol.

Designations

Persons

Senior
executive

Vv

Exescutive

S0

HE

Product head

ST

Admin

AL R Tl e [ g

$26. Ans.(d)
Sol.

Designations

Persons

Senior
executive

Vv

Executive

SO

HR

Product head

ST

Admin

ALt e ] el by

S$27. Ans.(e)
Sol.

Designations

Persons

Senior
executive

v

Executive

S0

HE

Product head

ST

Admin

40 m =

$28. Ans.(d)
Sol

M M

REPLACED

$29. Ans.(e)
Sol.

GET IT ON
Google Play
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24

$30. Ans.(d)
Sol.

Sol. Logic- Second letter is 2nd succeeding of first letter and third letter is fifth succeeding of 2nd letter.

Flavour

$31. Ans.(c)
$32. Ans.(d)
Sol.

B i C
b | 7
D& -t A
e
E H F

$33. Ans.(c)
Sol.
B ﬁ\ C
b |
D = -1 A
4+ X
E H F
S$34. Ans.(d)
Sol.
B :}L C
b= | s
D &= -1 A
e
E H F

GET IT ON
Google Play
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$35. Ans.(b)
Sol.
B ¢ C
A
p & —1>A
2z '
E Qr N F
H
$36. Ans.(a)
Sol.
G
C
B A
D {__ _9 A
) '
H
$37. Ans.(e)
$38. Ans.(d)
$39. Ans.(c)
$40. Ans.(a)
S$41. Ans.(d)
Sol.
Pattern of series -
24 +9=33
33+ 0.25=33.25
33.25+9=42725
42,25+ 0.25=42.5
425+9=51.5
S42. Ans.(d)
Sol.
Pattern of series -
4, 16, 34, 58,
+12 +18 +24 +30
+6 +6 +6

+6

GET IT ON
Google Play

A

BANK
MAHAPACK

for all Bank & Insurance
Exams
88, 7=124
+36

ke
£,
Selection Ka Saathi

22 |

adda247.com/defence |

www.sscadda.com www.bankersadda.com | www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://www.adda247.com/product-onlineliveclasses/3937/bank-maha-pack-ibps-sbi-rrb?examCategory=bank-maha-pack&productId=27165
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

$43. Ans.(c)
Sol.
Pattern of series -
163, 150, 134, 112, 81, ?7=38
-13 -16 -22 -31 -43
-3 -6 -9 -12

S44. Ans.(d)

Sol.

Pattern of series -
6x1—1=5
Lbx2—-2=8
8x3-3=21

21 x4 —4 =380
B0 x5 —5 =395

$45. Ans.(b)
Sol.

Pattern of series -
11+17 =28

28+ 19 =47

47+ 23 =70

70+ 29=99

99+ 31=130

$46. Ans.(d)
Sol.

Total camera sold in January and laptops sold in March = 128 + 132 = 260
Total mobiles sold in January and March = 156 + 144 = 300

Required percentage =%}< 100 = Be.66 * 87%

S$47. Ans.(b)

Sol.

Total number of laptops and mobiles sold by R in February = 100 x % +120x =

100
=140 + 150
=290

$48. Ans.(e)
Sol. Required difference = (132+144+180) - (128+124) = 204

$49. Ans.(a)
Sol. Required ratio = 144 : (120+160) = 18: 35

$50. Ans.(c)
Sol. Required sum =100 + 124 = 224
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S51. Ans.(b)
Sol.
. 8 7
Remaining work=1——=—
15 15

So, B alone can do %th of work = 7 days
B alone can do the whole work = % % 7 =15 davys

Both together can do the whole work = % ® 5= % days

Total work = 75 unit
Efficiency of B = E = Sunit/day

Efficiency of A = 8 -5 = 3 unit/hour
7

Required days = ?5 = 25 days

$52. Ans.(c)
Sol.

Ratio of profit share of A, B and C=4800 x 12: 2000 x 12: 2800 x 12
=12:5:7

Given, 5 unit = 3500

1 unit = 700 Rs.

So, required difference = (12 -7) X 700=5 x 700 = 3500 Rs.

$53. Ans.(e)
Sol.

Let time for man invested = x
So, rate of interest = 2x

ATQ, 4000X Ef:: = 2880
x2 =36
X=6

So, required interestrate= 2 X 6 = 12%

S$54. Ans.(c)
Sol.

Initial quantity of juice =90 X > = 50 liters

So, initial quantity of water = 90 - 50 = 40 liters

Quantity of water in resulting mixture = 40 - 36 x %—F 36 = 60 liters
Required ratio=40:60=2:3

$55. Ans.(c)

Sol.
Required answer = 200 x 2% 4 150 x =2 = 480
100 100

$56. Ans.(c)

Sol.

Total villages in Pand S =325 + 75 = 400
Required percentage = MZ;EEG ¥ 100 = 37.5%
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S$57. Ans.(d)

Sol.
Required average = w =200

$58. Ans.(e)
Sol. Required ratio = 125: (150+250)=5:16

$59. Ans.(a)
Sol. Required sum = 325 + 175 =500

$60. Ans.(d)
Sol.
Let cost price of each pen = x Rs.

And cost price of bottle = y Rs.
So,8x+ 12y =440

Cost price of 10 pens and 15 bottles = 8x x E + 12y x E = 440 x E
10x + 15y =550
Required selling price = 550 x % = 660 Rs.

$61. Ans.(b)
Sol.

circumference of the circle = 2 x % 7 =44
ATQ, 4x + 20 = 44 X f—l

4x =16

x=4

Required area = 16 cm?2

$62. Ans.(c)
Sol. 42%8+32%2
. _ 42x8432x2 _
Required average = ¥y T 40 km/hr
$63. Ans.(d)
Sol.

Required answer = 15 x 3 — 27 = 18 years

S64. Ans.(c)
Sol.
let athlete are 2x and cricketer are 9x

S0,2x+9%+9x+ 8 =68
20x =60

x=3

Required number = 9x = 27

S65. Ans.(d)
Sol.

Let the length of train and bridge of be x and 3x respectively.
ATQ,
45 % i — x+3x
18 36
x=1125
So, length of the bridge =112.5 % 3 = 337.5 meters
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$66. Ans.(d)

Sol.

let total people applied for post B =x

Total people applied for post A=x + % X x = 1.5x

Total boys applied for post A = % ¥ 1.5x = 1.05x

Total girls applied for post A = 1.5x — 1.05x = 0.45x = total girls applied for post B

Required % = 2257 100 = 45%
X

$67. Ans.(d)

Sol.

Let the speed of the boat in still water = 55 km /hr

So, speed of stream = 5x X % = 25 km/hr

ATQ, (55 +25) :%
s =2 km/hr

Required time (T) =

$68. Ans.(b)

Sol.

1B x—x—=—=7

6
7=1

1
57

$69. Ans.(c)

Sol.

30 _ 30
bes—2= 3=

?7=685-15+ 30

7=700

$70. Ans.(a)

Sol.

25 w280 —

100
?7=70-
7= 58

12

S$71. Ans.(d)

Sol.

376 -15=7?2

72 =361
=19

S$72. Ans.(e)

Sol.

27+ 64=96

27=32
?7=5

2 ws5p=2
100

GET IT ON
Google Play
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$73. Ans.(c)

Sol.

150 x 39 +3 —950=7
1950 -950=7

?=1000

S$74. Ans.(c)
Sol.
(36 x8) — (440 +8) =7

288 — 22 =7
8

7= 288 — 55
?7=1233

$75. Ans.(b)

Sol.

120 w45 64 = 4x%7? —70
100

S54-64+70=4x7
7=15

$76. Ans.(a)

Sol.

(4000 + 250) =3 +1=72
72 =49

=7

§77. Ans.(a)
Sol.

22 X350+ — x 200 = 110
100 100

?7=20

$78. Ans.(a)
Sol.

8y po 16
200 100

2= 54
A

:Z;) Ans.(d) BANK
108 — 8 =7 MAHAPACK

7= 100
for all Bank & Insurance

$80. Ans.(e) Exams
Sol.

49 _

X488 =7 M,,
196 = 7= Selection Ka Saathi
?7=14
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